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o sii=
Obtenga las matrices A y B, si A= (a;j)3, con a;; = J y
A siif
cos((i—35)5) ,si i>j
B = (bij)3x2, con b; j = (( ])%) Lo j
sen((i +])§) ,Sii< g
(60 puntos)
Solucioén:
Tenemos que
_ 1 2 3 2 2 3 5 1 3
el I sl N O I
_ | = s {_ (1 35 3| _ (1 3
A=lan an an| =37 5 3 |=|3 2 5|=|3 5 1
as; as ass 12 143 1 2 4 11 4
B 341 31 3 i 1 3 1 2 3
bir  bio sen((1+1)3) 36”((1“'2)%)\‘ (sen(2%) 36”(3%)\
B=1|0by by |= cos((2—1)%) sen((2+2)%) = cos(g) sen(4%)
bs1 b3 cos((3—1)%) cos((3—2)%)} 003(2%) cos(g)}
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cos( 5 ) sen (27r)
cos (7r) cos(g) -1 0



